PAT= 20l

,,,,, 44 S.No.: 653452

. gienfdat & fog fdw
1. () il | AfRsa wk iz (Mo Wo :mto):m-waﬁ
k_nﬁﬁidéitm U Ho. 2R v F fore 10 fie =1 wwa R
T ¥
(@) mloﬁn%qmmmﬁﬂﬂmg@mﬁMIm
ferger sad o g
() vA-gfemm & ol W @ oft f Fe A de @ d) R

fii) WE-yfRw & mwﬁmmmﬁmg@w
w® A« dwme

(iii) TA-gf vt wrafm frer S 6 e § R R,
Frm R a e O SRR A i TR B @
R AW wPad wm AR
aft yait = foreer W, ﬁmmgﬁwmﬂlu

TR R E-gRe Bl § 8 fre ¥ o wE

w%qqaﬁm@ma@t@@haﬁ&%m“

R e

(w)m-gﬁmﬁahézmmammmm
-wﬂmmwmduam¢bm-mmt
9 @ g et @ oty 7

) mmﬁ&%wﬁuﬁmmﬁﬂmqﬁmm
6 R T 4 oIm iR W % R 3 wR-w W
stBmoammt

T A Wi i s gel o TE-gew WEna Wt |

Seal of Supenutendent .of Examination i i -poi ;
Centrea.ndS:g ofI i” r To be filled in by the Candidate by Bali-point Pen only. A
Roll Number - SL No. of Answer-Sheet
=

Declar : I héwe read and understood the directions given below.

Signature of Invigilator : ............ccccveeiniininnenn. Slg'nature of Candidate :........covvvuevmniinninenssesnieense Date: ..ccoeveeeeeeenee

Name of InVIGHAtOr © vovevveeveerincereiereeren oo Name of Canduf& ......................................................... Time : e

Number of Pages in the Booklet—56 . Numbcg of Questipns——ZOO
£ F 30 o FeR 3 v w1 A, wow | |

Ve X R 2 sw-urd yw 1 7 2 wORiE o e
- 0-T0 vgurh ad wE W gl A w
 Freifer et w A wf wifet v ¥ semn g @ ferdh

7.

1
mqa'q%m'ﬁﬁmﬁwﬁlmim\ﬂﬁlm;
tﬁaﬁaﬂiﬁﬁ TR IR AR AR O |-
MmdmtammEmd wsoad § |

wﬂmﬁﬂ,ﬁxaﬁmmtﬁaﬁmaﬁoﬁa

¥ Black ball-point ¥ & meq Fen =& Wt
(@) TW-79 % Y 2. W I XA do, V2 WX TH w4 +

R e Wk O @R § Rrd @ w=f@a O M F Black

ball-point ¥ ¥ wEW H|
(1) TR F 982 WA & IW i = §) @ we F |

¥ W e -7 & f8 s 78 W Ry e &
(a) =it nfifial Black ball-point ¥ A fsg ot §1
o o MWe WA FM-73 A Black ball-point T A R O A
R N R e &R =@ 8, Ja: il ) wda

TH

faret ot U W PR, WnE WA W PR
oo & wifr dwer sl wer. awiet e w R

TN W -3 & wreh gt o, i s v & aw
areh 9 wf }1 v ¥y SRR g @ Ry

oo Mo TN-TX W FHEH FT I ahia ¥ v Irm Rex |-
wﬁm&momoumzim\mawﬁmﬁwﬁwm

(mmmtmwm-mtmmpmﬁqwﬁm )

SET coos. TAPE—OIB/M- Si. No. :

653452

k 4. 2. e 1.of t.heAnmer-Sheet in upper halif pomon, write
INSTRUCTIONS TO > CAWDIDATES A gn?:%rm  Homc o Exam. Conte and Daieofam, |
Oandids owed pra— . ur signature also. lower portion: s
L {a). u‘:; ‘rbou.tnthems:l?res in the Opugnal ";";l?%”de, ""m‘ﬁn in the boxes O of the first topmost line in capital |
Answer-Sheet such as Naitie, Roll No., etc. .l ’“m ‘"da N “‘mlﬁ’: M‘hl )l Writa :‘;‘ °“§ :
(b) After this 10 minutes, Question Booklet will b given to the ball- megchth circle O be ! wi ack
candidates. They are required to do the following : point pen the © aring same lctter. ;
s P ne the Quetion Bookiet il see thak &l paper () :On Page 2 of the Answer-Sheet, fill in your Roll No., Set Code, |’
Exami the edge of the ¢ are intact. DO Sl. No. i‘t)il}he QueshonBooklet ete., swntmgm ‘the Oand ||
aecept the Question ﬂooldet if péper seals are not intact. () On F 2’; fthe A .Sheet, the ers to tioas are
(i} Tally the number of pages along with the number of to be marked. The instructions for this are available on the |
queshotns printed on the cover page of the Question .: . .. back cover page of this Queation Booklet.
(i ﬁheqkﬂmttheﬂueshm@metwnhmthe 1. 1‘.(d‘) Mammwhmbwmwmepen
of all relevant subjects as andz h -3, OMR the result by reading the made in
:“o:o and no repetition or omi ﬁon qudationn is* the wiﬂiﬂwthhckbnnpomtpénghge lx;'ndzofthe
; Anzw-Sheet. hence the candidate must eprune careful in
In case ofi.liy Mmﬁe ﬁmm' . marking theése entries and must not commit errors.
i .zeceiving the Question y 4. Please do not write anythmg extra except who.t is asked for.
d Ques n Bookiet will be mﬁ%ﬂwﬂl a&%ngg: cn 5. Use '!Mm or any ather
(iv) After e:lcqnmn}utx‘gl tthu Question Bod;m plcaae entéfthe | © mo& m strictly prokibited.
Serial No. of the estion riate
+ at o oreled 6. Ro workshouldbcdone onthebllnkp-ges rovided: after.
gel?armﬁm Sheet p g o8 eac“hdéub]ect. Extra papet will not be supplied. P
(c] Candidatés are not perng 3 mafitlilvers i’ the | 7. Use bf Whitefter in the OMR Answer-Sheet {8 ot allowed. In case
Answer-Sheet in these 1 ! nore will be if it is used, UFM case will be reglstend and candidature will be {.
given to mark the s S cancelled :
( For instructions fnsw u,phpumtbohckmmeottmwon?ooﬂet)

- /5-A




TAilE-e:tB/ 14

ﬁ\ﬁzoouﬁaﬁﬁﬁﬁrwwm‘“ . 3gwe siferan 7% : 200

- Time for marking all 200 questions : 3-hours | ‘Maximum Marks : 200

e sen [A]

HiE (NOTE)

1. T 5E-9% % e aun v i v femger €

This Question .Paper’s description and division of questions are as follows :

Sl ST -~ Subject Questions Marks
FA-1: MRF W (AG-1 : Physics) o 25
FN-1 :WES (AG-1 :'Chénii'stry) | ﬁ ; 25 .
1 —— T : 100
: FN-1 ;. MF  (AG-1 : Mathematics) . 25
FA-1: MafTA  (AG-1 : Biology) 25
‘ 9 ‘ F-2 R S T S L 5o | 50
(AG—2 Crop Production and HOrtlculture) “
g FN-3 ; WEWW%W , 50 50
(AG—3 Elements of Animal Husbandry and Poultry Famung)
y T (Total) 200 | 200
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This question: booklet contains 200 questions numbered from 1 to 200 and each questlon carries
1 mark. All questions, are compulsory. There is no negdtive marking.
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1.

2.

AG-1 : PHYSICS e
Ffu-1 : wifaw v

If a free electron is placed in the path of
a plane electromagnetic wave, it will
start moving

(A) towards the centre of earth
(B) towards the equator of earth

(C) towards the direction of magnetic
field

(D) opposite to the direction of electric
field

The power of lens of focal length 1 cm is

(A) 1D ‘

(B) 10D

(C) 100 D
(D) 001D

One cannot see through fog because
(A) fog absorbs light

(B) light is scattered by the droplets in
fog

(C) light suffers total reflection at the
droplets in fog '

(D) the refractive index of fog is infinity

4. The dual nature of light exhibited by

(A} diffraction and photoelectric effect
(B) diffraction and reflection
(C) refraction and interferepce

(D) photoelectric effect

Huygens’ wave theory allows us to know -

(A) the wavelength of the wave
(B) the velocity of the wave

(C) the amplitude of the wave
(D) the propagatipn of diravéfrqnts
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(A) 1D
(B) 10D
(C) 100D
(D) 001 D

3. = =fe RR § T g v, wifn

(A) ﬁmmaﬁm&zﬁﬁam%
(B) R i I3 worw B @ A ¥

(C) R} A &t Wy = b qEeda @
EiGIE

(D). PR F AYSAH 3 BT 8
4, w1 A 30 WA weia At}

(A) ToadT v wemiRgg E g1
B) fad w@ wEd g7

(C) Iuad Ud =faator g
(D) wepreiferyy S™E B

5. EE 1 @ e o waarar g7

(A) T TR
B) T
(C) o« H AW
(D) T T GO

[ P.T.O.




6. The dimensional formula for impulge is
(A) MLT™2 T
(B MLT!
©) ML?1!

(D) M2LT!

. The unit of reactance is
(A) ohm
(B} wvolt
(C) mho

(D) newton

. The layers of atmosphere are heated
through

(A} convection

(B} conduction

(C) radiation

(D) (B) and (C) both

. The internal energy of an ideal gas
depends upon -

(A) specific volume

(B) pressure

(C) temperature

(D) density
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(A) MLT2
B) MLT!
) ML?r!

(D) M2LT!

7. wftema = A ?

(A) W
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10'

11.

12.

13.

The spectrum from ar blackbady

radiation is

(A) a line spectrum

(B) a band spectruni :-

(C) a continuous spectrum

(D) line and bang spegpzpm hoth
When the convergent nature of a convex
lens will be less as compared with air?
A) In water

(B) In oil

(C) In water and oil both

" (D) None of the above

An electromagnetic wave going through
vacuum is described by

E = E sin (kx - ot)

Which of the following is independent of
wavelength? -

A) k
B) o
© k/o
D) ko

A body is in equilibrium under the
- 9 o

action of three forces F, F,, F3. Which

of the following statements is wrong?

W R+F+F=0

(B) 1?‘1 , 1_5"2 , }_""3 can be represented by the

three sides of a triangle taken in
order

(D) None of the above
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14. If the volume of a’'gas is doubled:at

15.

16.

17.

constant pressure,
translational kinetic
molecule will

the average
energy of its
(A) be doubled

(B} remain same

(C}) become four times

(D) None of the above

The angle between the magnetic
meridian and geographical meridian is
called

(A) angle of dip

(B) angle of declination

(C) magnetic: moment

(D) intensity of magnetic field

If a lens is cut into two pieces
perpendicular to the principal axis and

only one part is used, the intensity of
the image

(A) remains same

(B) becomes % time

(C} becomes 2 times

(D) None of the above

The ratio of mean kinetic energy per
mole of hydrogen and oxygen at a given
temperature is

A) 1:16
(B) 1:8
€ 1:4

(D) 1:1
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A) 1:16
B) 1:8
C) 1:4

(D) 1:1
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18. Rainbow is formied due to =

19.

20.

21,

A) only reﬂechon

(B) dlsperswn and total

reflection
(C) diffraction
(D) scattering
A bomb at rest explodes into a large
number of tiny fragments. The total
momentum of all the fragments
(A) is zero

(B} depends on the total mass of all the
fragments

(C) depends on. speeds of various
fragments

(D) is infinity

In gases of diatomic molecules, the ratio
of two specific heats of gases (Cp /G)is
(A) 166

(B) 133

(C) 100

(D) 1-40

At magnetic poles of earth, angle of dip
is i

(A) zero

+.(B) 45°

(C) 90°

(D) 180°
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(A) 166

(B) 133

(©) 100

(D) 1-40
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22. One feels hotter.at the top of a fl@ne 22. 5t W ¥ I 9 FAW-TW A ge q
than the sides because of STET A9 T IS BT &, TR R ¢
‘ o

(A) conduction

)
(B)" convection (B) Haed
(C) radiation © ffrm

(D) Both (A) and (C) (D) (A) W (C) 3t

23. The chromatic aberratlon in lenses

becomes due to : o 23. a“:ﬁﬁaﬂf f Al % .
(A) dissimilarity of main axis of rays (a) femcott % ‘3@ g A m“'““'
(B) dissimilarity of radii of curvature (B) Than Bowait Y srqmiiaa
(C) _variation of focal length of lenses : () e ¥ Wy o womEw QoA
with wavelength yiEd
(D) -:None of the abeve o] (D) : 3@ ﬁﬁﬁg?ﬁ
24. I 2 wire having tf:Sifta;t;e 8}?? = 24 7R 800 ¥R ¥ fed A i e
stretched to double the length, what wi : 8
be the resistance of the wire? grh &, @ W AW H
(A} 160Q. -
: (A) 160Q
(B) 320Q
(B) 320Q
(C) 240Q
(C) 240Q
(D) 640Q
(D) 640Q
25. An object will continueacceleratin ‘. B
‘until & 25. UF 9% a9 T @id gt @l 91| a6
- (A} the resultarit:foree acting on it o (A) I R W TR IR 7w A e
begins to decrease ERcH|
(B) the resultanf force on it is zero (B) MW gfomdt s MG Lk IC
(C) >the' resultar}t force is at right angle (€) wRomft T@ IuF o & R ﬁm
to its rotation e

(D) the resultant force on v it is
increased continuously (D) 38 R IRomf 7& 1 9H TR Toq @

TAPE-01B/14/5-A 8
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26.

27.

28.

29,

30.

AG-I::

CHEMISTRY

HiN-1 : W

The metal present in' ¢hiorophyll is
(A) Fe

(B) Mg

(C) Co

(D) Mn .

Soaps are metal salts of |

(A) alkane

(B) alcohol

(C) fatty acid

{D) sulphonic aqid

Rickets is caused due to the
deficiency of )

(A) vitamin A

(B) vitamin B

(C) vitamin D

(D) vitamin E

Soaps are salts of

(A) strong acid and strong base

(B) strong acid and weak base

(C) weak acid and strong‘base

(D) weak acid and weak base

State of hybridization ef -eaggon and

bond angle -in .ethene molecule
respectively are

(4) sp®, 180°
(B) sp2, 180°
(C) sp?, 120°
(D) sp, 120°

TAPE-01B/14/5-A

26. a@ﬁﬁaﬁm@aw@%

(A) Fe
(B) Mg
(C) Co
(D) Mn

27. WA Piriiaa § & Reae g e g 27

A)

(B) Ywieta

(C) & I
(D) mﬁmm

28. ﬁ%zaﬁwmaﬁﬁﬁaﬁ‘ﬁﬁ%m

g 7

(A) Tt A
(B) f=fm B
() faafm D
(D) ﬁmﬁmE

wﬁqﬁ-ﬁaﬁﬁmmﬁi?
(A) Ve A T TS AR <

(B) VaE A 9T gAA &R

(C) oS 7 a1 WS &R

(D) § T U1 FoA &R

(30, Q. Y & HEA N YR HEE AU Y

w3, e

(A) sp3, 180°
(B) sp?, 180°
(C) sp?, 120°
(D) sp, 120°

[ P.T.O.




31.

32.

C . (A)

33.

34.

35.

TAPE-01B/14/5-A

The nature of bonds in NHj ion iy

(A) ionic

(B) covalent
(C) coordinate

(D) covalent and coordinate

The silver halide having maximum
solubility in water is

AgF -

AgCl

AgBr

Agl

(B)
€
(D)
The molecule which does not obey
octate rule is

(A) CH,
(B) BHj3
(C) HO

(D) HCI

In %Na, numbers of protons and
electrons are respectively *

(A) 12 and 11
(B) 11 and 12
(C) 12 and 23

(D) 11 and 11

Which of the following is not affecting
by electric and magnetic-fields?

(A) Proton
(B) a-rays
(C) PB-rays

(D) y-rays

10

31, NH}, M # sreeeil 6 wpfa 2
(A) Ff
(B) WEHANTH
(C) SUHEHEN®
(D) UEEASSH qUT ITHGEAISH

32. 9 ¥ waite faerasfter fiea damss &
(A) AgF
(B) AgCl
(C) AgBr
(D) Agl

33, 3, S s P 6 T A W, 3
(A) CH, |
~ (B) BH;
(©) H,0
(D) HCl

34. 23Na F it @ o A e , w:

A) 12311
(B) 11312
(C) 12323

(D) 11311

35, Rbffa & ¥ ffy @ & @ gl @
1 1T & ggar 27
(a) seH
(B) o-for
(C) p-febtur
(D) y-fon

o e S
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36. On hydrolysis .of which one of the

37.

39.

following
obtained?

(A) NaCl
(B) CH,COONa
(C) NH,CI
(D) KNO,

salts basic solution is

Which of the following salts will not
undergo hydrolysis?

(A) NH,CI
(B) CH,COONa
(C) CH,COONH,

(D) NaCl

. pH value of —1% NaOH solution is

@) 1
(B) 14
) 13
D)y 7

Example of emulsion is

(A) coloured glass

(B) butter ‘

(C}) cloud

(D) milk

Which of the following ions is the most

effective in coagulating the ferric
hydroxide sol?

(A) Na*
B) C1I™
(C) Mg2+

(D) A13+

TAPE-01B/14/5-A
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36. efofian & & fFe T@w & Soemwe @

37.

aria frerm W A }?
(A) NaCl |
(B) CH,COONa

(C) NH,CI

(D) KNO,

AR # @ B @ mmm EEi]
e 37

(A} NH,CI

(B) CH,COONa

(C) CH3COONH,

(D) NaCl

N

38. -iBNaoHﬁr«m% pHF TR Y

@A) 1
B) 14
€ 13
D) 7

39, IHIM FI IR 2

(A) GfF s
(B) wwEd
(C) ==

D) @

40. Fr=fifaa # @ F-T1 3WA S TG

wiet % w3 for waifies wvrereh 27
(A) Nat |

B) C1”

(C) Mg2*

(D) A13+

. |P.TiO.
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41. Example of’invert sugarfis .1
(A) sucrose A
(B} glucose
(C} fructose
(D) equimolar mixture of glucose and

fructose both

42. Which of the following is peptide
linkage?" R
(A} —CO—
(B) —COOR
(C) —CONH—
(D) —CONH,

43. Molecular weight of Na,CO; is M, and
that of NaHCOj is M,. The equivalent
weights of Na,CO; and NaHCO; are
respectively

(A) M, and M,
(B) I—Z-l— and M,

M M
() =% and =2
2 2

(D) M, and %—2

44, n-Butane and iso-butane >are
(A) position isomers
(B) chain isomers
(C) geometrical isomers
{D) functional isomers
45. Which one of the following is most
acidic in nature?
(A) Methane
(B) Ethane
(C) Ethene
(D) Ethyne

TAPE-01B/14/5-A 12

41. YT T IR ]
) e
(B) TR
(C) %
(D) T T FHRE ST F1 GHAYF fsor

42, Ffafea # @ wF-a1 Yeme oy 27
A} —CO—.
() —COOR
(C) —CONH—
(D) —CONH,

43. Na,CO; H MR M, @1 NaHCO, *
M, ® Na,CO; @1 NaHCO; % gedisht
R &, FA:

(A) M@ M,

M
(B) —2—1avn M,

M, M,
“laqm =2
© = 2
M,

D) M,

44, n-@?ﬁmm-i‘@?g
(A) et smaeh
(B) saen quEwE
(©) wficfy qmae
(D) Teraeres wnTarEf
45, Frafafam # ¥ ¥9-w walte onefw wefa
w7
(A) T
(B) WA
(C) M
(D) Wi



46. A pair of organic compoundg 'With sarges: < IV46. WeiNs AR F1 ©F gw, Rew e

47.

48.

49,

“(A) six

50.

empirical formula is :
5 i‘“t
(A) ethane and ethene

%.(Bf ‘ethane and ethyne

(C) ethene and ethyné‘ "
(D) ethyne and benzene

The main component of gobar gas is
(A) methane

(B) ethane

(C) propane

(D) butane

Which one of the following statements is
correct?

{A) - Acetic acid is more acidic than
formic acid -

(B) Formic acid is more acidic than
acetic acid

(C) Acetic acid and formic acid are
equally acidic

(D) Acetic acid is more acidic than
hydrochlortic acid

The number of unpaired electrons in Cr
(atomic no. = 24) is

(B) five
(C) four
(D) three

Urea gives the test of

(A) >C=O0 group

(B) —NH, group

(C) —CONH, group

(D) All the three groups
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e, R
(A) T o
B WA
(€) T 7 T
(D) TTEH F fA

47. MR g & 0@ TeF B
(A) A
(B) TH
(C) s
(D) =H

48, frefafga # @ F9-91 w9 5@ ¥7

(A) Hfew o, w‘ﬁaﬁmﬁa&m
ety 2

(B) wihi® o, Wiks e ¥ At
el ?

(©) AR s o i ST TAH w9
oreiig

(D) Wiew s, TErciifcs oo A
Rt R

49. Cr (oMY 9% = 24) & fq wagHl A
we &
(A) ©:
B) =
(C) =W
(D) =

50. Ffen view 2 3
A) >C=O0wg =
(B) —NH, T
(C) —CONH, &9 FI
(D) o Tt &

{P.T.O.

NN £ 3 e £ e




~ AG-1 ’"MATHEMATICS
Fu-1 :

51. If in a geometric progression, 3rd term
is 2, 5th term is 8, then the 10th term is

(A) 82
(B) 256
(C) 526
(D) 512
52 1+ tan? 8 _
1+cot? 6
(A) cqj;9 _(B) tan®

(C) tan?@ (D) tan26
53. The sum of infinite terms of
1.2 4 _8
3’ 9’27 81
is '
A) o

(B) +e

©) -

1
@) <
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51. IR & iR A & dfww W 2 B, 591 W=

52.

53.

8 %, 7 1091 ua §
(A) 82
(B) 256
(C) 526

(D) 512

1+tan? 0 _

1+cot? 9
(A) cotB (B) tan®

(C) tan?86 (D) tan?20

hd

-2 o A g
27 81 .

1.2
37 97

(A)

o

B) +w

(€ -

(D)

|

oY B m v T =

pam e

S o s SR R e E



54.

55.

The coefficient - of variation. of-: a
distribution is 60 and the standard
deviation is 20. The grithmetic mean of
it is c

(Aa)
(B)

(€)

(D)

LS

Two poles of lengths 6 metres and
3 metres respectively are standing
straight upright at certain distance. A
third pole of length 5 metres is placed
touching the tops of the two vertical
poles. The horizontal distance between
the two vertical poles is

-~ (A) 2 metres

56.

(B} 4 metres
{C} 3 metres

(D) /3 metres

Two geometric means between 9 and
576 are ' -

(A) 18 and 172
(B) 144 and 86

(C) 36 and 144

(D) 81 and 243

TAPE-01B/14/5-A ~
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54. frft de1 w1 R qE 60 2 W AWE

55.

56.

ﬁamzoélmmmw%

(A)
(B)

(€)

(D) 30

QA qia, et g w6 WX w3 Hiw
R CE e Ui I e c R i I
fon A, Rraeht g 5 Hie g, F FAE
Wi & et @ Tl wd g @ gen 21 el
o ot & e dfw 0 R

A) 2 d=x
(B) 4=
(€) 3=

(D) 3R

9 T 576 % i < TR HreA §
(A) 184172
(B) 144 9 86

(C) 364 144

(D) 814243

[ P.T/O.




5§7. If n - «, then the value of log, n isc

(A) tending to e

B 0

©) e

D) 1

58. 50th term of -50, -45 -40, --- i

{A) —-400 |

(B) +250
(C) -195

(D) +195

§9. If in a frequency distribution, variance
is 25 and arithmetic mean is 10, then
the coefficient of variation is

(A) 250%

(B) 50%

(C} 2:5%

(D} None of the above

60. cosOsind =

A) 1

(©) sin2e
2

TAPE-01B/14/5-A

(B) 0

D) Lcos2e
2

18

16

57. R n ~» oo, T log, n A A
(A) o Y 3 T B
B) ot
C) e?

(D) 1%

58. -50, —45, —40, --- HI 503?%%
(A) —400
(B) +250
() -195

(D) +195 a

59, IR el wmgfy s # swwwm 25 @

AR AT 10 &, @ forsror-1pnss @
(A) 250%

(B) 50%

(C) 25%

'(D) e § A B T

60. cosBsinf =
A 1 By O

©) lsin2e (D) lcos2e
2 2

s‘“..u*”,!,qg*—qwt’grﬁ"# N—

e e B

= e M T

T

- gt g
o Al T S g



61. The sum of first 7 termsof 9, - 6 4, --is 61..9 -6 4, - F ToW 7 9& H A8

463 81 o
A) —= (B) g— 463 81
81 " 363 (A) 31 (B) 763
(C) 91 (D) ~694 © o1 D) 694

62. If cotd = 2, then the value of sin20 is 4
3 62. uﬁcote=-3-,aasinzeanm%

4 5 ,
@ < ® 3 Wt -
| 5 4
25 24
€ 24 (D) 35
o = o) 2
24 ' 25
63. The standard deviation’ for
8,7, 12,5,6,7, 4 63. 8, 7, 12, 5, 6, 7, 4 T W FraeH &
is o :
o (A) 40 (B) 20
A) 40 (B) 20 o ,
. D) 667
(©) 258 (D) 667 (C) 258 (D) 66
64. Given log2=0-3010, log3=0-4771, 64. IR log2 = 0-3010, log3 =0-4771, T
each at base 10, lthen_ the value /YR 10 %, ?ﬁloglo(lOS)WﬂFl%
of log,;((108) is S «
(A) 37781
&) 37781 !
(B) 20333 ~ (B) 20333
(C) 20771 (C) 2:0771
(D) 27781 - (D) 27781
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65. Which of the following is a geomeftric
progression?

(A) ’ 2

[ARE N
N =

B)

N[ =
Wi
-

D=

’

utin

1
3’

€ 234

D) 24,8

66. Three numbers

are

m arithmetic

progressionn, whose sum ‘is 72 and
product is 13608. The numbers are

(A) 21, 24, 27

(B) 11, 34, 27

(C) 17, 34, 21

(D) 37, 24, 11

67. In z=-log,(x), if x =0, then

(A) z=1
(B) z=0
) C) zo=

D) z—> =

£y

68. Median of the data

74, 80, 65, 85, 95, 72, 76, 72, 93, 75,
75, 84, 60, 74, 75, 63, 78, 87, 90, 70

is
(A) 93

() 84

TAPE-01B/14/5-A

B) 75

(D) 72

18

65, it it @ - A Toire A 7

2
wlN
N =
N

=
N~
Wl
D=

€ 234
(D) 24,8
66. M TEaTd TR A § &, R @m 72 §
T O 13608 B 3 HEA §

(A) 21, 24, 27

B) 11, 34, 27

(©) 17, 34, 21

(D) 37, 24, 11

67. z=-log (x)HAR x=0%, 7@
A) z=1
{B) z=6
€ zoe
(D)‘\ Z—> -
68. Wi
74, 80, 65, 85, 95, 72, 76, 72, 93, 75,

75, 84, 60, 74, 75, 63, 78, 87, 90, 70
H mit 2

() 93 B) 75

(C) 84 (D) 72

SR P ———

B i



69. If 0= -;—, then the value of tanb is -
@) 1
(B) not defined
€ 0o
(D) o
70. The sum of all the terms of

4, 8 12 -, 212
is

(A) 2482

B) 2128

(C) 5724

(D) 5700

71. Three arithmetic means between ~1and’

15 are

(A) 5, 10, 11

(B) 3, -7, +11

(C) -3, -7, +11

D) 3,7, 11

72. The value of log3(81]) is
A 4
B) 3
(C) 2

(D) =

TAPE-01B/14/5-A 19

69. ﬁf&h%@j?rataneanm

@ 1% o
(B) ufonfya 7
() o

(D) =}

70. 4, 8 12 -, 212 %ﬁ\ﬁﬂg‘iwm%
(A). 2482
(B) 2128
(C) 5724

(D) 5700

. 71, -11§ 15 ¥ 9 = w=w A §

A) S, 10, 11
(B) 3, =7, +11
(C) -3, -7, +11

D) 3,7, 11

72. log,(81) F1 uH §
A 4
® 3
€ 2

(D) e

- [PT.O.




73. How long it will take to pay a loan,.of 73. 880 To ¥ F @l & FA U o @

€ 880, if € 25 is paid in the first month, wim, R wem T § 25 %o, T W 3§
¥ 27 is paid in the second month, ¥ 29 27 To, da TAX § 29 To, R a1 R
is paid in the third month and so on? )

ST 87

(A) 48 months

{A) 48 wém
(B) 20 months (B) 20 7@
{C} 44 months ©) 44 7@
(D) 12 months D) 127 z
!g:
¥
b
74. If tan(A- B) =3 and tan(A+ B) = —— : 1 4
J3 74. 3R tan(A-B)=J/3 @ tan(A+B),=-§, )
then the value of Ais - = Aw T I}
|
}
A) 4 A) 45° f
(B) 760° @ 6o :
(€ 90° Q 90° \
. ‘ é;
(D) 15 D) 15° |
75. The sample mean of 4, 6, 6,7, 9, 10 is 75. 4,6, 6,7 9 10w Red At |
A) 7 (A) 7 ‘
®) 6 B) 6 o
‘
© s ©) 5 |
:
(D) 10 (D) 10 ‘
!
Y
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76.

78.

TAPE-01B/14/5-A ; 21

AG=1 : BIOLOGY . .
#N-1 : Hafamm

The function of setae in-earthworm is

(A)
(B)
(€
(D)

digestion a0
locomotion
excretion

respiration

Silk is collected from

(A)
®)
©
(D)

larva
adult
pupa

cocoon -

What is the basis of wlassifigation of
animals?

A)
(B)
(€

.D)

Symmetry
Segmentation
Coelom

All of the abave .

Which insect is harmful to agriciilture?

A)
(B)
©
(D)

Silkworm
Lac insect LT
Grasshopper

Butterfly

Typhlosole is produced in, the intestipe

of

(A)
B)
(€
(D)

earthworm =~
cockroach
grasshopper

silkworm

76.

77.

&I F & T FH {7
@) o
(B) T

(C) SeasiH

(D) W&

W E W §
(A) @&t

By

78.

(C) =wa
(D) FEFPTE

aﬁsﬁ%wﬁmwmmam@
(A) Twiufa

. (B) @wEhiEA

(C) e

(D) mﬁﬁw

79.

ri-a B & 3 grar s A

(A) [ F HE

(B) <@ #ie

© R
@) fett o

. feht wlodbRscem sem m ¥

(a) g
B) foe=m
) Rem |
D) TmEA. ,. .-

.t PR E‘P-;o' '

S A R A SR S




81. Radial arrangement of vascular bunilles

82.

83.

84.

©

TAPE-01B/14/5-A

(B)

(D)

is found in
(A) root
(B} stem
(C) leaf

(D) branch

Only phloem contains

(A) parenchyma

(B} sclerenchyma

(C) sieve tubes and companion cells

(D) None of the above

Which one is the pai't of stele?

(A) Bpidermis

(B)  Pericycle

(C} Cortex

(D) Hypodermis

Which one of the following is present
only on leaves?

(A) Hydathode
(B} Periderm
(C}) Cambium

(D) Starch sheath

Which is found ‘ifi ‘endodermis?
(A) Caéparian strip
Starch grain
Cuticle

Mineral crystal

22

81.

83.

84.

Hag e 1 I TR T el @
() TR
(B) W #
(C) et #

(D) i &

o dryarg 3 A /80 &

(A) T_EH

B) T ;

() mmﬁwmﬁﬁmﬁ
(D) 3T & A =g T

T T N e 37
(A). SR

®) oW

(C) Fege

(D) IF

frrferiam § @ A1 T Re TR
e 7

(A) SRY

(B) W=

(C) Hfemm

(D) Avg (W) AR
FIEEET & T G S 27
(A) e afdem

(B) WS F

(C) HRwa
(D) @ @

b e SRR RS

PR —————— L SR At S S

SO

2 S

s

e



86.

87.

Cambium is responsible for
(A) formation of glucose
(B) primary growth

(C) secondary growth}

(D) respiration |

What is the
classification?

smallest unit of

(A) Species
(B) Genus
(C) Order
(D) Family

Diadelphous condition ‘of stamens is

, found in

89.

90.

(A) Malvaceae

(B) Rutaceae

(C) Cucurbitaceae

(D} Papilionaceae

Which is the characteristic feature of
family Compositae?

(A) Superior ovary* -

(B) Inferior ovary

(C) Half superior ovary . .

(D) None of the above

The characteristic features of family
Malvaceae are

(A)  monothecous .and diadelphous
stamens - -

(B) dithecous .and '~ “diadelphous
stamens .

(C} dithecous and monadelphous
stamens

(D) monothecous and monadelphous
stamens e w

TAPE-01B/14/5-A
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86. Hfdmm frdgd

(A) TS TR ¥ R

B wREgRFRA

(©) mg%%ﬁ-ﬁ
D) W ¥R

87. it A T B T Bt 7

(A) snfa
(B) aw
(C) ™

D) 3=

88: ghw Hy fewdt sravan rf s &

(A) wreREt
(B) &t #

€ FFRERT
(D) YRfrEEAw &

89, wrifed T o fufire v BA-w d

(a) Seadt smm
(B) yeiadi s
(C) d Fedadf s
(D) Igw & A B

90. wm%m!ﬂi

(A) TwaRETERED au e g
B) RwwmEEh au R gEw

(C) Fwrmrpieft qem waadt gher -
(D) TR T R g

O PTO.




91. Tetradynamous condition of stamens is

characteristic feature of
(A) Crucifer;(;

(B) Malvacéé.e

(C) Leguminosae

(D} Solanaceae

92, Dumbbell shaped stomata are found in
(A) Malvaceae
(B) Gramineae
(C) Cruciferae g
(D) Solanaceae
93.

94,

95.

TAPE-01B/14/5-A

Cereal-crops belong to which. family?
(A) Malvaceae SRR

(B) Cyperaceae

{C) Gramineae

(D) Cruciferae

§ele9tion ;}gxethod of 'hreedi_r;g_i_is t};e
(A) newest |
(B) oldest

(C) median

(D) best

During respiration, pyruvic acid is
formed by T i

(A) “Krebs cycle
(B) TCA cycle
(C) PPP cycle

(D) . glyeolysis .

24

91, THW ¥ ygdfi i mgmm wgm . o

(&) FEH
(B) e
(C) Vfeeh
(D) wAE

92.‘ T MFR F W IR AR E
(A) wAreRE T
(B) mhwh &
(C) FEHR A
(D) ‘a’réﬁm_ﬁ

93. U] HEe HA-Y Fo ° el §7
(A) WS |
(B) HEE
(C) i
(D) FTH

94, Tt &% 9 hit = AR R
(A) TR TE
(B) W@ goht
(© Wi
(D) €48 aresh

95, vau ¥ A e I R

- (A) 3FSE T F e
(B) Fo o To um T
(©) ﬁo ﬁoﬁo EE] m
e

T

§ emm b R SRR T T RN

S g e Y A ¥ T BT g T



96. The growth hormon& Which Helps in

97.

98,

99.

closing of stomata in dark is

(A) IAA

(B) IBA

() GAj

(D) zeatin

The backcross ratio in a monohybrid
cross is

A) 9:3:3:1

By 3:1
C} 1:1
D) 1:2:1

Mule is an offspring of

(A) male a.n::l female donkey

(B) cow and ox

(C) male horse and female donkey

(D) male donkey and female horse

Cell organelles are found in
(A) bacterial cell

(B) prokaryotic. cell

(C) eukaryotic cell

(D) cyanobacterial cell

100. The place where the spindle fibres are

attached to the chromosome is called
(A} centriole

(B) chromosome

(C}) centromere

(D) chromoéentre

TAPE-01B/14/5-A
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Vi ggiUSTR B 9 o Y I W gf AW 3

(A) IAA
(B) IBA
(C) GA,4

(D) frafm

97. TheTGe Hid o Aswid U B &

A) 9:3:3:1

B) 3:1
€ 1:1
D) 1:2:1

98. G=R U& Wafd 2

(A) aiam_mmnﬁaﬁ
(B) T qw A
(C) T =gt qu AT T H

(D) T e T @ W R

99, HRmw firer &

(A) Sy iR &

(B) W¥fafes fifdr #
() T¥iefes Al §
(D) WAy wifkw

100. 38 M, w& fHew o T @ I It 2,

3

(A) AHER
(B) o
(C) TomgEg
(D) T F=

[ P.T.O.

I S




SPACE FOR ROUGH WORK / T ®ri % fg wam

e e e R S R

e et e e M S e L i OSSR SRR &

s e g e B e SRR
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SPACE FOR ROUGH WORK'} 1w Wl fg wam

AR i e B R g e Al gl

i A e G

z B
e e g | e gl R R s B

caa g EET

S il AR i g & o RasREET
= -
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101.

102.

103.

104.

105,

AG-2 : CROP PRODUCTION AND HORTICULTURE
FRN-2 : HHEA INUTEA TS I

‘Madhuri’ and ‘Priya’ varieties of maize

are used as
(A)
(B)
(€
(D)

fodder maize
popcorn
sweet corn

baby corn

Silver oak is botanically known as
(A) Cassia fistula

(B) Millettia ovalifolia

(C) Grevillea robusta

(D) Bauhinia variegata

Which of the following flowers is used to
intensify the colour of egg yolk when
added to poultry feed?

(4)
(B)
©)
(D)

Chrysanthemum
Saffron
Rose

Marigold o

‘Khapra Beetle’ insect attacking wheat
grain during storage is known as

(A) Rhizopertha dominica
(B) Trigoderma granarium
(C} Tribolium sp.

(D) Sitotroga oryzae

‘Propping’ is an important operation in
which of the following crops?

(A)
(B)
(Y]
(D)

Sugarcane
Sugarbeet
Jute

Barley

TAPE-01B/14/85-A
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101, we & frEl wrgd’ @ Bren’ w1 owEm e

102.

103.

104.

1065.

e 8

(A) IMF & H
(B) ulaeid & &q A
() s wd

(D) I F A

e 3w &1 et TW R
(A) FRy fegen

(B) faeifear spafersiferar
(C) Ifaferm Qarer

(D) WA 4

f d 3 fee g & o gt & wem #@
I F AR WM F W H WA B F AU
T wmn 7

(A4) TR

(B)

€ Ja=

(D) =

WER F M W W T® FR A
‘@ dea’ §

(A) syt Sifafwr

(B) ziFmeat fem

(C) grgaifery wiisfist

(D) g s

‘S fr e waa § A I Tl
weeq fRm 37

(&) T

(B) TFH

€

(D) st

g e T T R s EE ey .

= e o R
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106. Which of the.following States has the

107.

108.

109.

" ‘reclamation of - 7

110.

largest area under sugarcane? -
(A) Maharashtra

(B) Uttar Pradesh

(C) Madhya Prgdesh

g SN

(D) Bihar

For proper storage, the optimum
moisture level.of wheat gragn should be
(A) less than 10%

(B) 10%-15%

(C) 15%-16%

(D) more than 25%

The optimum temperature during
sowing of wheat should be :
(a) 22-23 °C
(B) 30-35 °C
(C) 4045 °C

(D) 0-5 °C

Rock phosphate is used for the

(A) alkaline soil
(B) acidic soil .
(C) rocky land -

(D) - sandy soil

Which of the following plants does not
bear scented flowers?

(A) Hibiscus syriacus
(B) Lathyrus adoratus
(C) Lonicera japonica

(D) Sweet Sultan

TAPE-01B/14/5-A
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1os.n%ﬁﬁﬁ$mﬁnﬁﬁmmﬁ

waiftes dawa 87

(A) wERTE

(B) IW W
(C) WA WA

(D) fasn

107, I wwery F fe A & get/dNt § w0

H I LA
(A) 10% ¥ FH

(B) 10%-15%

(©) 15%-16% .,
(D) 25% & At

108, A9 gont & o g e R

(a) 22-23 °C
(B) 30-35 °C
(C) 4045 °C
D) 0-5°C

109. mmf@zms@m(@nﬁ)%mmﬁ

mmmv ,
(a) e
(B) Il i
(C) W
©) Xk

1o, fret 4 P 4 & e g e R

(A) Rfew aRarFy
(B) Pursw YSRew
(C) @ET AqfFH
(D) e g™

 [P.TLO.




111. Which instrument is used to meastire

wind speed?

(A) Anemometer
(B) Hygrometer
(C} Windmill

(D) None of the above

112. Controversial ‘Bt cotton’ is resistant to

which of the following?
(A) Lepidopteran pests
(B) Orthopteljan pests
(C) Powdery mildew fungi

(D) Bacteria

113. Cairr%t is boféﬁically known as
(A) Daucus carota
(B) Raphanus sativus
(C) Allium sativum -
{D) Nomne of the above

114. Which method of propagation has been
depicted in the given diagram?

(A) Seed
(B) Budding o i
({C} Cutting

(D) Air layering

TAPE-01B/14/5-A
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118.

116.

117.

118.

Which of the following is an acitfic
vegetable?

(A) Rhubarb

(B) Shatavari

(C) Beetroot

(D) Broccoli

According to the data of the Directorate
of Economics and Statistics, Delhi
(2009-10) total area under food grain
cultivation in Madhya Pradesh is

(A) 12:46 million ha -
(B) 5-20 million g "+ v
(C) 30-20 million ha

. . Coed WG W W
(D) None of the above

3

‘Brown rust’ disease of wheat is caused

(A) Puccinia recondita

(B) Puccinia graminis

(C) Puccinia st’ilfo;'mis

(D) Puccinia tritici+

‘Pusa seedless’ is \.a va;lety 6f ‘
(A) banana e

(B) kinnow

(C) grape

. (D) pomegranate

119.

Onion is botanically known as -
(A) Allium cepa )
(B) Solanum lycopersr.cum

(C) Allium sativum’ SR
(D) None of the abbVe
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120.

123. The

TAPE-01B/14/5-A

The modern soil-surveying techniques
include the use of

(A) ERIS
(B) LANDSAT
(C) GIs

(D) All of the above

121 ﬁﬁnjdtis bota;i';ically lmowh {aé. :
1A) Solarturm melongena™ ;

(B) Solanum lycoperszcon

(C) Brassica napzer

(D) Brassica oleracea

122. Which of the following crops is suitable

for the extraction of fibre besides oil?
(A) Linseed 1

(B) Mustard

(C) Groundnut o

(D) None of the above

optimum temperature  for
refrigeration or chilling is

A) 0°Cto5°C

(B) -5°C to 0°C

(C) -15°C

(D) -18 °C to -40°C

124. The process of adding vitamins to the

squash is known as:
(A) canning

(B) pasteurization
(C) sulphurization

(D) fortification
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122,
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(A) T
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125. Which method of propagation: has been
depicted in the given diagram?

I

Budding
Seed

(A)
(B)
€
D)

Air layering
Grafting

126. ‘Ear cockle’ disease of wheat is caused

by
. (A)
(B)
©
(D)

bacteria
nematodes
fungi

parasites

127, In crop cultivation, which season is

called Rabi?
(A)
®)
©
(D)

October-March -
January-March
July-October
May-July

128. For preservation of natural coloured

products, which of the

chemicals is used?
(A) Sodium benzoate
B) KMS

(C) SO, :
(D) All of the above |
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129. The varieties of cotton suitablésfor
Madhya Pradesh are

(A) Sharda and Surabhi
(B) Rohit and Shamli
(C) Khandwa-3 and Vikram
(D) None of the above
130. Golden Duranta and Iresine are mainly
used as )
(A) a hedge |
(B) an edge
(C) coloured flowers
(D) All of the above
"131. Stinkbug (Gandhl Bug) is an 1mportant
pest of o
(A) rice
(B) maize
(C} soya bean
(D) groundnut
132. What should be the optimum acidity
level in jelly?
(A) 1%
B) 5%
(C} 10%
(D) 0-5%-0-6%
133. In Madhya Pradesh, Two-Year Crop

Rotation is followed for which of the
following: crops’ sowing?

(A) Cotton-jowar
(B} Cotton-wheat
(C} Cotton—potato

(D) Cotton-maize
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(D) 3Fw® | ¥ =g T
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(A) Ed
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134. Which of the following crops is called,as 134, fim ¥ @ B9 5O W o W FE
“White Gold”? | | / Y, T
. oo WJ‘
(A) Cotton ; &) ww
C) Soya bean - "
(C) Soy Boovna (C) W
(D) None of the above ‘
(D) 3w & & = T
135. The optimum concentration of syrup in c )
canning should be _ 135. ¥ & g N A Iuge wiEm A =Ry
(A) 20-55°B (B) 70-85°B (A) 20-55°B (Bj 70-85°B
(C) 50-60°B (D) 10-15°B (C) 50-60°B (D) 10-15°B
136. The oil content of linseed seed is 136. et (forfe) & sfver 7w it v A< @
(A) 37%43% ; S (A) 37%43%
(B) more than 60% LB) 60% ¥ it .
(C) more than 70% ... ©) 70% & 3ftrw
(D) 20%-25% (D) 20%-25%

137. ‘Snapdragon’  or ‘Dogflower’  is ‘ T '
. . ﬁqaua 1 ‘SHTHATER : FF IS AW
botanically known - as , ‘ 137 ¢

(A} Calendula officinalis . .- ) *ﬁ‘"ﬁ’ﬁ’m
(B) Antirrhinum majus (B) TRRTETH Ao

(C) Centaurea moschéia . (C) @-=fam wiewrer
(D) Papaver somniferum (D) ¥ @AFE
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138. Pore space (%) is equivalent to which of

139.

140.

141.

the following?

Bulk density %1
Particle density

(A) 100- 00

Bulk density
Particle density

(B) 100+ x 100

Bulk density

‘ X 100
Particle density

(€)

Particle density
Bulk density

(D) x 100

The optimum co‘nce‘ntration of SO, in
necta; and RTS is

(A) 100 p.p.m.
(B) 350 p.p.m.
(C) 250 p.p.m.

(D) 750 p.p.m.

Hydraulic force is equivalent to

(A) Area x Height of water column
Density of water

(B) Y2 Area X Heig"ﬁt" of water column
Density of water

(©) 2 Area x Height of water column
Density of water

(D)’ ‘None of thé above

Central Institute for Cotton Research

(CICR) is situated at
(A) Nagpur
(B) Bhopal
{C) Mumbai

(D) Ahmedabad

TAPE-01B/14/5-A
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(A) 100-

T T
———— x 100
I e

B) 100+

T T
—  — x100
1 e

T[Tl T
T T

(C) x 100

T T

o) T
TE I

x 100

e @ RTS # S0, H Ty TN B &
(A) 100 diodiouro
(B) 350 fodftouno
(C) 250 frodtouo

(D}.- 750 HtoftouHo
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142. .Out of the total cultivgted, area in India, 142. M@ § @?ﬁ fom o A . -‘Rma &1 fa

how much is irrigated? i fafa 27
(A) 28%-32% N | (A) 28%-32%
(B)' More than 40% (B) 40% A s
(C) 50%-60% | © 50%—60%‘
(D) 20%-30% (D) 20%-30%
143. One hectare area comprises of 143. T W A fean @'531131 %?
Al 10000 m? | () 10000 T
B) 12000m2 (B) 12000 FHieX
© s000m? (G} 4000 Tt
(D) 800 m?2 i ' - (D) 800 Wi U

144. Which of the following types of engine is 144, 3§ v fry TR T W e # 3 R

used in tractor? TR T B 37
(A) Internal combustion engme k (A) AREE TH
(B) External cox,pbu'sit’:ion engine (B) Wﬁﬁ SGFT
(C) Mechanical combustion engine (C) itk Tg T
(D) All of the above * - | (D) Wﬂ‘ﬁ
145. ‘Yellow Revolution’ is attributed to the 145. %8 wya 1 I9a YeER A} ‘ﬁa Eﬁ el
increased production of which crop? T 87
(A) Yellc;w pulses - Ay dwh @
(B) Grain crops. | ; (B) THER O
(C) Oilseed crops - - (@] LRIC| ‘RTE'T. ; N
(D) All of the above ' (D) g a\#f
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146. For malting, the moisture content of

147.

148.

149.

150.

TAPE-01B/14/5-A

barley should be
(A) 20%-25%

(B) 20%21%

(C) less than 14%

(D) less than 2%

In cotton, Xanthomonas a.xonopodl.s pv.
malvacearum causes which of the
following diseases?

(A) Bacterial blight
(B} Rust

(C} Leaf spot

(D} All of the above

Wheat variety suitable for dry farming is
(A) Kalyan Sdna

(B) K-68

(C) K-65

(D) All of the above

How much nitrqgéh is obtained from
urea?

(A) 42%

(B) 46%

©) 25%

(D) 60%

The seed rate of maize qgrop is
(A} 20-21 kg/ha

{B) 10 kg/ha

(C) 2545 kg/ha

(D) None of the above
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147.

148.

149,

(A) 20%-25%

(B) 20%-21%

(C) 14% ¥ =W

(D) 2% ¥ =W

wam  # U @EAmike 94
AR o <At w1 wRor 37

(A) YFfae sge

(B) W™ ‘

(C) i% wie

(D) 3w @t

T ft ¥ R 7 AR Be-uht e g 27
(A) SHoETT HHT

(B)- K-68

(C) K-65

(D) 3w wft

e A e yRw EdieA S A 27
(A) 42%
(B) 46%
(C) 25%
(D) 60%
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AG-3 : ELEMENTS OF ANIMAL HUSBANDRY AND POULTRY FARMING
#R-3 : uy] & Fge T & T

151. mw(sw@zx)ﬁwmmm

151. Carbon dioxide Ilevel 1n_s1de the
incubator should not éxceed R 3t T8 @ Tﬂﬁ@
(A) 01-0-2 percent’” @ 01-02 s &
4B} . 0-3~0°§ perceft ..+ - . . B) . o 3«&}5 nﬁmﬂ

(C) 0-7-0-9 percent ' ©) 0.7_0.9gﬁs|-aﬁ

D) 1:-5-1-8 percent
(D) P (D) 1-5-1-8 R &

182. Feed conversion ratio for commercial
broilers is about 152. AR Figer § am W :ﬂama Bt
' &, @
A) 10 | (
o V) o
@ 20 S b
(B) 20
() 30
(C) 30
(D) 40
(D) 40
153. Pitfall of cage system of housmg in ' _
poultry is 153. Hfifat & st $t fiomr wafa § =+ &
(A) difficyit-cwtting, 1. . e (A) S =W
(B) housing and equipment cost (B) G TF I oA
(C) occurrence of coccidiosis (C) HiaEifEfma @
(D) space requirement | (D) T N AT
154. Which of the followmg is the le%dmg SN “
State for poultry productlon in Indxa? 154 e W ﬁm TR
(A) Andhra Pradesh @ 3 =
(B) Tamil Nadu (B) m
(C) Gujarat (C) TR
(D) Uttarakhand (D) @S

TAPE-01B/14/5-A
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1585.

156.

157.

158.

159.

V(D) All of the above

Sick gnimalg are ghecked. by -
(A) inspection -

(B) percussion

(C} auscultation

In which of the following diseases of
cattle there is ‘abortiéri ‘of pregnant
animal after 6-7 months of pregnancy?

(A) Anthrax )
(B) Brucellosis
(C) Blackquarter
(D) Mastitis

For which of the following diseases of
cattle, pre-monsoon vaccination should
be done every year?

(A) Anthrax
(B) Blackquarter

(C) Haemorrhagic septicaemia

{D) All of the above

Chromosome number of chicken is

A) 72

(B) 78

(C) 80

(D) 82

The distance between , two . poultry

houses of same age-group chicken
should be at least

(A) 12 metre
(B) 15 metre
(C) - 18 metre
(D) 24 metre

TAPE~01B/14/5-A
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(D) o

157.
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(A) fred-om
(B) e
(C) g,
(D) v i
158.
@& 72 e
(B) 78 .
(©) 80
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159.
wa-8-w9 g ﬁmim‘%i
@) 12
B) 15 HiX
(€) 18X
(D) 24 W=
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160.

161.

162.

163.

Cow should be dried off after how many
days of lactation?

(A) 240
(B) 270
(C) 305

(D) 330: "

Environmental influences, are less in
characters having

() high heritability

(B) low hentablhty

(C). medxum hmtablhty

(D) None of the above

In grading up method of breeding,
purebred charagter. will.. be - attained
after ‘
(A) 3 generations

B) 4 generatiohs |
(C) S generations
(D) 7 generations

By using liquid nitrogen, semen straws
are- stored at the temperature of

(a) -70 °C
(B) -100 °C
(C) -196 °C
(D) None of the above

TAPE-01B/14/5-A
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164. In India, artificial insemination ''was
used for the first time at

(A) NDRI, Karnal

(B) IVRI, Bareilly

(C) Palace Dé.iry Farm, Mysore

(D) Project Directorate on Cattle,

Meerut

‘165. Incomplete milking in cow causes

(A) reductionr in fat percent of milk

(B) udder infection |

(C) Both (A) and (B)

(D) more milk production later on
166. In cattle, conventional ‘barns are

preferable to loose housing due to

(A) Dbetter cleaning |

(B} better disease control

(C) less .exposure to outside weather
conditions

(D) All of the above

167. The method of drying for dairy cattle is
(A) complete cessation of milking |
(B) incomplete milking
(C) intermittent milking
. (D) All of the above
168. Casein content of buffalo milk as
compared to cow milk
(A) is higher
(B) is lower
(C) is the same

(D) varies with diet

TAPE-01B/14/5-A
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169. Most of nitrogen in milk is found as

170.

171.

172,

(B)

(A) casein

(B) lactalbumin

(C) . lactoglobulin

(D) lactoferrin ‘

Main milk—prbducing animals of India
are -
(A) cows
buffaloes
©

sheep

(D) goats

Per capita availability of mﬂk in Ipdia is
(A) 183 g/day
(B) 223 g/day
(C) 263 g/day

(D) 153 g/day

The region between two forelegs of a
cattle is called

~ (A) breast

(B) brisket
(C) jowl

(D) None of the above

TAPE-01B/14/5-A
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170.

A) wH=
(B) R

(C) Prreisgfem
(D) ARYHA

wRa ¥ go7 gU-3aqes qy ®
(&) ™
®) %
© %

(D) €=t

171. Y@ & yfa =R o Suear }

(A) 183 U™ wfafA

| (B) 223 ™ wffA

(C) 263 um WfafF

(D) 153 um wfafeq

172. M ayed ¥ e O & = w wmT wEerar §

(A) W
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173. Which of the following is not apafof

174.

175.

176.

177.

small intestine?

(A) Duodenum

(B} Ileum T
(C} Jejunum

(D) Rectum

Karan Swiss is a bree‘dw o%
(A) cow i

(B) buffalo‘

(C} sheep

(D) goat

Which of the following is dual-purpose
breed of sheep?

(A) Corriedale

(B) Ddrsgt
(C) Karakul

(D) Southdown .

Triplets are common in which of the
following breeds of goat?

(A) Jamunapari
(B} Black Bengal_ ,
(C) Beetal B

(D) Sirohi

Sickle-shaped horn is a characteristic of
which of the following buffalo ‘breeds?
(A) Murrah

(B) Surti

(C} Bhadawari

(D) Jaffarabadi

TAPE-01B/14/5-A
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178. For testing adulteration of cow milk 178
with buffalo milk, which of the following .
" tests is used?

(A) Alcohol test
(B) Starch and potassium iodide test
(C) Hansa test .
(D) None of the above
179. Manger space requxrement of an aduit
cattle is
(A) 40-50 cm
{(B) 50-60 cm
(C) 60-75 cm
(D) 75-90 cm

180. Increase in environmental temperature 180.

causes following changes in milk
composition

{A) Increase in fat content

(B) Increase in lactosé’ content
"~ (C) Increase in prdteiﬁ content

(D) Increase in SNF content

181
181. The pH of fresh buffalo milk varies from

(A) 5860
(B) 6465
C) 67-68
(D) 54-56

182. Specific gravity of milk is increaged by 182
(A) addition of sldmrg_ed mllk .
(B) removal of cream |
(C) Both (A) and (B)
(D) None of the above
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1835

184.

185,

186.

Which of the following is the praduifive
type .of roughage?

(A) Maize
B) Jowar"
{C) Bajra

(D) Berseem

Good quality silage should have high
content of

{A) acetic acid.
(B) butyric acid
(C) propionic acid -

(D) None of the above’

Peculiarity of sheep feeding is
(A) sheep prefer lvarée' mature gfass

sheep chew feed léss thoroughly
than cattle

(B)

(C) sheep compete with dairy cow on

pasture

(D) sheep nibble small blades of grass

on pasture

Breeding buck, feeding on; pasture,
should be provided with which of the
following amounts of concentrate daily?

(A) 200 g |
(B) 300 g

(C) 400 g

(D) 500 g ST e
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187. Characteristics of a-goed bull s oo

188.

189.

190.

191.

(A) purebred and masduline body
(B)

(€

no physical defermity

dam record in pedlgree of bull
should be good -

(D) All of the above .

Number of permanent teeth in gi{;dw is
(A) 20 |

(B) 28 . o UL w oy
(C) 32 |

(D) 40 B

A pgood heifer cow of Indian  breed
should have which of the following?

(A) Birth weight 15-20 kg

(B) Age of sexual maetgrity 10 months
(C) Pedigree should be good

(D) All of the above

Which of the following teeth‘are used for

. age determination in cattle?

(A) Canine
(B) Incisor
(C) Premolar
(D) Molar
In which “of* the following - difeasés,

chicken vaccine is admlnlstered in the
wing? o

(A)
(B)
(€

Fowlpox
Gumboro
Marek

(D) Ranikhet
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192. Which is the most" common - anifial 192, Eﬁ?ﬁ F omeR % waitE Wgw B A

protein supplement used in the diet of YA wE TH 2
chicken?
(A) weht =t gof
(A) Fish meal ‘
B) wia &
(B) Meat meal ®) EE{
(C} Feather meal (O TE@wm iuﬁ
(D) Liver residue meal - ' © (D) TFA A H ;’Ef - o

193. Crude protein content of broiler starter 193, A WX ARR # TR RE ARR A g

ration as compared to layer starter "} = WEH A @
ration is ‘
A) fte
(A) more
' (B) =W
(B) less v
(C) same. (€ ==

(D) Both (B) and (C) ‘ D) 3t (B) 3 (C)

194. Which of the following is a fungal  194. i # & gftdt a0 wawoifir dmd
disease of poultry?
@A) Terfetfea
(A) Aspergillosis :
B) I
(B) Pullorum
(C) wReaEd
(C) Fowlpox
(D) wiaditenfm

(D) Coccidiosis

198. Acidity of sweet Dahi is 195 Hi3 (a) 7 A v d %

" (A) 05 percent | | (4) 05 “ﬁm
(B) 07 percent B (B) 0-7 wfewra
(C) 1-0 percent © 1'o~m
(D) 2-0 percent ‘ (D) 2-0 wfawra
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196. Fat content of Khoawprepared from .-

197.

198.

199,

200.

buffalo milk is
(A) 257%
(B) 287%
(C) 32'1%

(D) 37-1%

Basic design of butter churn is
{A) swinging churn
{B) rotating churn
(C}) dash churn -

(D) All of the above

The factor which influences fat percent

of cream is
(A) the position of cream screw
(B) bowl speed
(C) the rate of milk in-flow

(D} All of the above

Grower stage of layer chicken is
(A} 4-8 weeks
(B) 6-9 weeks
(C) 9-20 weeks

(D) 8-14 weeks

Which of the following breeds is known
as champion of egg production in
poultry?

(A} White leghorn
(B) Ancona
(C) Minorca

(D} New Hampshire
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" INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

( Faar Black ball-point UR T SN %t )

1. IW a7 &7 alr:
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(1)

( Please use Black ball-point pen )

Method of Marking Answers :

To answer a question, please darken only
one bubble out of the given four, in the
OMR Answer-Sheet against that question.

Valuation Procedure :

There are four alternative answers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer. If more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded.

Cancellation or Change in Answer :

It will not be possible to change the
marked bubble with Black ball-point pen.
Therefore, correct answer should be
carefully chosen before marking it on the
OMR Answer-Sheet.

Handing over of the Answer-Sheet to
Invigilator :

(i) Please ensure that all entries in the
Answer-Sheet are filled up properly,
i.e., Name, Roll No.,
Question Booklet No., etc.,
handing over to the Invigilator.

CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

before

Care in Handling the Answer-Sheet :
While using the Answer-Sheet, adequaté

care should be taken. Do not tear or spoil

the Answer-Sheet by folding or wrinkling.
The impression of the circle made by Black

. ball-point pen should not come behind the

Answer-Sheet.

Signature,
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